50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

18CV52

Max. Marks: 100
Note: Answer any FI VE JSull questions.

Analyze contmuous beam ABCD by slope deflection method. Construct SFD and BMD.

\OBKN 2.0 WN
i
Fig.Ql1 P SIS y2 .‘Stm«, =.|~5W\.‘
ET - Consk omt (20 Marks)

Analyze the frame shown in Fig.Q2 by slope deﬂection method and draw BMD.

Fig.Q2

(20 Marks)

Analyze the continuous beam ABCD loaded as shown in Fig.Q3 if settlement in support B
and C are 5 mm and 10 mm respectively. Use moment distribution method. Take
EI=2.7 x 10° kN-m”. Draw BMD.

S
Fig.Q3 A NV\ANWYMWWLS‘YWVYWMD
ig: ‘
' o lowa g% 10wW) 3@9 1wy ’% (20 Marks)
Analyze the frame loaded as shown in Fig.Q4. Use moment distribution method.
, o
s 3, T
; S LW b
Fig.Q4 . 0.1 5L
*W T
| D (20 Marks)

Analyze the beam shown in Fig.Q5 by Kani’s method. Draw BMD.

Na < P somt \ 904N
Fig.QSs (o 5 Loty \LE
v —tem R tm —— Wy
<€ T T
(20 Marks)
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~_ Fig.Q9 ta;d""

18CV52

Analyze the frame shown in Fig.Q6 by Kani’s method. (Make use of symmetry)
PRY pl O -\ 198,

C\'ML Q. l WA

@v)
(r '
Fig.Q6 B QuxN|m :) %
® e
ey Yy

(20 Marks)

Analyze the continuous bearri shown in Fig.Q7 by ﬂéij’ility method. Draw BMD.

0““\“3 G\
(r -

e ,
FigQ7 ¢ @A B v ¢ am 4w
o\ et Lwy, 4/3@%—/’# .
N g - (20 Marks)

Analyze frame shown in Fig.Q8 by. flexibility matrix approach. Draw BMD.
L p ok

Fig.Q8

KR 7 (20 Marks)

Analyze: the continuous beam shown in Fig.Q9 by stiffness matrix method. Take EI
constant.. g

12,fo p L0 wnlw

e v 4c »
6™ 6 g S ra—
g ’_’ﬁ (20 Marks)

Analyze the pin—jbinted truss shown'in Fig.Q10 by stiffness matrix method. Take cross-
sectional area for all members = 1000 mm” and E = 200 kN/mm”.

b )

Fig.Q10

CMRIT LIBRARY
TE BANGALORE - 560 037
\ 00 (20 Marks)
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